ERRAROBRHBIERT —5 X— X BISH—F
EQ Y ) s TRED RBEFHR)

20224108198 (7K) 8EIEF03H
BRI

C2 YS5R—MK

[xE%] 1% :1,800,000F . 23&:630,000H . 33&:360,000H  43&:270,000 3 . 5 & :180,000 3
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
SFF R : ~4-2- - INBER (B0
15| 5| FL5FF7 14— i 5 Bl 1.(3_0).5 4-4-2-2 |39.6 3 (4:62) mg%ﬁ
RZAEIWN=T B:FLSRILT—Y J\BZ77—LA
3 > i 6 | PERE 1:30.9 3-2-1-3 [39.7| - 9 | 456 |/IBSE CETD)
28|12| 9AYN—RAY 56.0 6 w |BOET
R:¥YUSTvRk #:F14FEEY b ARETa—T7—LA
o Q o7 | RAE 1:30.9 5-5-4-4 | 39.5| — 1 481 | MR GET)
3N 4 | EFLR=IL 56.0 F9R) a5 | JEEAS
R:F4—=FTUVSVF B:7—RTU—> B EEEGN U IET RS
3 | BERK 1:31.5 1-1-2-1 [ 40.3| - 5 | 48 |BEET CED
4 AR ZAZI i 54.0 ?) 11 N2
RiSZT BRI—U—FLUY EESe
< J\AE : -12-12- - JBRA CAf)
5 3| TPAVPLR i o6 e 1.(321).9 12-12-12-8 | 39.1 8 (5:)3 e,
R I RD—LEY 8: Ty hE—k FrUEFVRTF—L
. T =z —| : = EH—RI G
6 9|FAIT—EILRU— o4 5%1% BA 1.(312).1 6-7-5-5 | 40.7 4 (4_758) Eﬂg% I GFAD)
R:AN/UFv—R BF—F—F AR HE: (5—
y it 3 | EAAKE 1:32.2 10-8-6-6 |40.7 | — 2 449 | TEkfREE CRA0)
i . BIEZa) g 5.0 Ry G | W FITVF
R:¥vo/0704 B:ILVYT B EEEMR AR IET RIS
- LI+ : -9-8- = WEHE— GaiAD)
8 Y | AT I Py AL i 4 AL 1(.13/22.)3 8-9-8-8 | 40.4 10 zzg ek
R:TSVTURR B:I9FIF v P95 BER
S 6 | BEEKZ 1:32.4 11-11-10-10| 39.8 | — 11 | 461 |BH=ES) CAA0)
98|11 XM¥3avAvYA e 54.0 @E) @9y | (B JPNEER
ROVRITSYR B:X(vavr0OUF i —3=
s BAAETE : -3-7- - FOBE(Z (At
10l5|6 | L¥21=ILD=Ib LR i 1'(322)'8 AR R ’ (4_722) =BE—
R:O—RAF0O7 B:UF4NERR TATFAT7—L
R 8 7 | YRR 1:33.6 7-6-9-11 | 41.7| — 6 478 | SHIEX (BT
M1 F¥39TA4VH-R 54.0 @ (7) | EREFAOEB
RIAREFU BiEAUVEXSE N4
N iy i 4 3 | tHEH 1:35.0 9-10-11-12 | 2.7 | - 12 515 | RSP GAfD)
1217110 P4 RA—="> 56.0 %) @33 |LEAE
R:¥IMZLEIO B:YyYIvava H—RSN—T 2RIV R
@ 11— —®BIEfI
13—7+— 7,6,12,5,4,9,1,2,10,8,11,3
20—7F— 7,12,6,5,4,1,9,8,2,10,11,3
30—7— 12,(5.,7),4,9,8,6,2,1,11,10,3
43— — 7,5,12,4,9,8,6,(2,3),11,1,10
o ILRE
B B 5 5904 JA R 5-12 1,950/ % 3= 5-8 2,270M 3EE 4-5-12 7,060
7B B 5 2004 4-5 570 B 5-8 3,410 3EH 5-12-4 57,9604
12 440 4-12 1,110 /B & 5-12 6,700/
4 1804 =51 5-12 13,360

ABIC OV TRUTEREERRODDZE. THRIIZEL.




